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QUESTION 1

HOTSPOT 

You need to create an N:M relationship between VMware hypervisors and virtual volumes with the least amount of
administrative overhead. 

Click the option where you can create a group of VMware hypervisors for volumes provisioning. 

Hot Area: 

Correct Answer: 
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QUESTION 2

A customer has a large amount of the data on their Primera that is mission critical. The business needs RPO to be
under 5 minutes. Which protection technology should you recommend? 

A. synchronous replication 

B. asynchronous replication 

C. archiving 

D. backup to tape 

Correct Answer: A 

 

QUESTION 3

What is used to migrate data between nodes in an HPE StoreVirtual VSA environment? 

A. Network RAID 

B. Peer Motion 

C. SmartClone 

D. Remote Copy 

Correct Answer: B 

Integrated with HPE Recovery Manager Central for seamless data movement to StoreOnce Backup appliances and
StoreOnce VSA, and bidirectional replication with 3PAR StoreServ arrays (Peer Copy). 

 

QUESTION 4

A customer wants to expand his cascaded B-series based SAN but is concerned about latencies within the SAN
backend. You recommend changing the topology to a full mesh. 

Which switch feature will ensure that the latencies in the backend are at the lowest possible level? 

A. LACP 

B. NPIV 

C. FSPF 

D. VSF 

Correct Answer: C 
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QUESTION 5

A customer uses Recovery manager central for Vmware (RMC-V).They need to ability to perform granular recovery of
application item directly from backups...Which solution integrates with RMC-V to provide the desired requirements? 

A. Veeam Backup and Replication 

B. Netbackup 

C. StoreOnce cloudbank 

D. CommVault 

Correct Answer: A 
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